C. Y. Yeung (AL Chemistry)

F7 AL Chemistry (Quiz 1)

Name: _________________
Class: ________ (   )

Date: __________

1.

(a)
Give a systematic name to each of the following compounds:  (3M)




(i)









________________________________________




(ii)












____________________________________




(iii)










________________________________________


(b)
(i)
Draw the structures for the two enantiomers of butan-2-ol. (1M)

(ii)
What measurable property could be used to distinguish these two
enantiomers?  (1M)




_____________________________________________________________





_____________________________________________________________

2.

Explain why boiling point of straight-chain alkane increases as molecular mass increases.
















(3M)


______________________________________________________________________


______________________________________________________________________



______________________________________________________________________



______________________________________________________________________



______________________________________________________________________



______________________________________________________________________



______________________________________________________________________



______________________________________________________________________

3.

Draw the structures of methylbutane and dimethylpropane.  Compare their melting points and boiling points.
(7M)


______________________________________________________________________



______________________________________________________________________



______________________________________________________________________



______________________________________________________________________



______________________________________________________________________



______________________________________________________________________



______________________________________________________________________



______________________________________________________________________

4.

Alkane molecules are generally unreactive because  (2M)


______________________________________________________________________



______________________________________________________________________



______________________________________________________________________



______________________________________________________________________



______________________________________________________________________

5.

Write the reaction mechanism of bromination of methane.  (3M)
6.

Explain why phenol is more acidic than cyclohexanol.  (5M)
7.

Arrange the following carbocations in the order of increasing stability. Explain your arrangement.  (5M)
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